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a § g % Q. SECTION - A (10 X 1 = 10 Marks)
8 S 8 - No. Answer ALL Questions.
o g m X
CO1 K1 1. Which of the following is a basis classification of a table?
a) purpose b) construction c) originally d) all of these
CO1 K2 2. Data can be obtained through a statistical .
a) Survey b) Methods c) Analysis d) Medium
CO2 K1 3. Find the mean of 6, 7, 10, 12, 13, 4, 8, 12.
a)9 b) 10 c) 12 d) 13
cO2 K2 4. Calculate the range of the data sets 61,22,34,17,81,99,42,94.
a) 90 b) 82 c) 88 d) 85
CO3 K1 5. Who introduced the term ‘regression?
a) Karl Pearson b) R.A Fischer c) Croxton and Cowden d) Francis Galton
CO3 K2 6. The correlation for the values of two variables moving in the same direction is
a) Perfect positive b) Positive c) Negative d) no correlation
CO4 K1 7. Which of the following is not a possible ordered pair for a matrix with 6 elements
a) (2,3) b) (3,2) c) (1,6) d) (3,1)
CO4 K2 8. The number of element in a matrix of order 2*3 is
a) 6 b) 4 c) S d) 2
CO5 K1 9. What will be ratio of simple to compound interest on two same sums invested in SBI
at rate of interest of 8% kept for 3 years?
a) 1875/2029 b) 1/2.9 c) 1903/2156 d) 4/9
COS K2 10. | The principal is four times the simple interest and the number of years is same as the
rate of interest per annum. What is the time?
a) 6 years b) 4 years c) Syears d) 2 years
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@ E g2 Q. SECTION - B (5 X 5 = 25 Marks)
g S g No. Answer ALL Questions choosing either (a) or (b)
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Cco1 K3 11a. | Discover the characteristics of statistics.
(OR)
CO1 K3 11b. | Identify the limitations of statistics.
CO2 K3 12a. | Show the mean from the following data
Values F
Less than 10 4
Less than 20 10
Less than 30 15
Less than 40 25
Less than 50 30
Less than 60 35
Less than 70 45
Less than 80 65




CO2 K3 12b. (OR)
The monthly income of 10 families in rupees in ascertain village are given below
Family | 1 | 2 | 3 | 4 S |6] 7 8 9 | 10
Income | 85 | 70| 10 | 75 | 500 | 8 | 42 | 250 | 40 | 36
Show of Harmonic mean
CO3 K4 13a. | Nlustrate the coefficient of correlation from the following data
X 12 9 8 10 11 13 7
Y 14 8 6 9 11 12 3
(OR)

CcO3 K4 13b. | lustrate the following are the rank obtained by 10 students in two subjects
.Statistics and mathematics .To what extent the knowledge of the students in the
subject is related

Statistics 1 2 3 4 ) 6 7 8 9 10
Mathematics 2 4 1 S 3 9 7 10 6 8
CO4 K4 14a. -6 —12
& Show the inverse of [ ]
—8 -8
(OR)
CO4 K4 14b. Let A 2 -3 1 B 3 -2 4 Sh hat AT + BT
+
et (4 2 3 ) (1 3 _5) ow that
CO5 K5 15a. | Calculate the simple interest on Rs 5,000 at 10 % 3 year find also amount
(OR)

CO5 K5 15b. | Calculate the differentiate the following with respect of x
a) (3x2+4x-5)3
b) Esx2+2x3
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28 8% | o SECTION - C (5 X 8 = 40 Marks)

g S 8 2 No. Answer ALL Questions choosing either (a) or (b)

o g [

CO1 K3 16a. | State the various functions of statistics.

(OR)
Co1 K3 16b. | Explain the different methods collection of primary data.
COo2 K4 17a. | Show the standard deviation for the following data
Interval 5-10 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45
F 6 5 15 10 S 4 3 2
(OR)
CO2 K4 17b. | llustrate the mode from the following series
Size of item | 0-5 | 5-10 | 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45
F 20 | 24 32 28 20 16 34 10 8
CO3 K4 18a. | Compare correlation and regression
(OR)
CO3 K4 18b. | Show the two regression equation of x and y and y on x from the data given below ,
taking from actual mean of x and y
Price Rs 1012|1312 |16 |15
Amount demanded | 40 | 38 | 43 | 45 | 37 | 43

CO4 K5 19a. | Calculate by matrix method

2x+4y+z=5;
X+y+z=6
2x+3y+z=6 (OR)

CcO4 K5 19b. | Evaluate the various types of matrix.

CO5 K5 20a. | Calculate differentiate the following with respect to x
i) X3+3 logx+2 cos x
ii) 3 tanx + 2 cosx- €x+5

(OR)
CO5 K5 20b. | Calculate the interest on Rs 1,000 for 10 years at 4 % per annum , the interest being

paid annually







